
5514 5514.5 5515 5515.5 5516
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

5−

4.5−

4−

3.5−

3−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

6114

6114.5

6115

6115.5

6116

6116.5

6117

6117.5

6118

ru
n

run:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6116}



5514 5514.5 5515 5515.5 5516
cyclenum

69.5−

69−

68.5−

68−

67.5−us
l_

1X
usl_1X:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

35

35.2

35.4

35.6

35.8

36

36.2

36.4

36.6

36.8

37

37.2

us
l_

4e
X

usl_4eX:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

15.6

15.8

16

16.2

16.4

16.6

16.8

17

17.2

17.4

17.6

17.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

38.8−

38.6−

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

37−

36.8−

36.6−

us
l_

12
X

usl_12X:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

6114

6114.5

6115

6115.5

6116

6116.5

6117

6117.5

6118

ru
n

run:cyclenum {run == 6116}



5514 5514.5 5515 5515.5 5516
cyclenum

118.5−

118−

117.5−

117−

116.5−

us
r_

1X

usr_1X:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2

6.4

6.6

6.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

209.5

210

210.5

211

211.5

us
r_

4e
X

usr_4eX:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

10.5

11

11.5

12

12.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

41.5−

41−

40.5−

40−

39.5−

us
r_

12
X

usr_12X:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

6114

6114.5

6115

6115.5

6116

6116.5

6117

6117.5

6118

ru
n

run:cyclenum {run == 6116}



5514 5514.5 5515 5515.5 5516
cyclenum

18478

18478.5

18479

18479.5

18480

us
l_

co
il1

usl_coil1:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

3095.5

3096

3096.5

3097

3097.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

4539

4539.5

4540

4540.5

4541

us
l_

co
il4

usl_coil4:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

148.5

149

149.5

150

150.5

us
l_

co
il6

usl_coil6:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

5630.5

5631

5631.5

5632

5632.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

6114

6114.5

6115

6115.5

6116

6116.5

6117

6117.5

6118

ru
n

run:cyclenum {run == 6116}



5514 5514.5 5515 5515.5 5516
cyclenum

15899−

15898.5−

15898−

15897.5−

15897−us
r_

co
il1

usr_coil1:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

2567.5−

2567−

2566.5−

2566−

2565.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

4526

4526.5

4527

4527.5

4528

us
r_

co
il4

usr_coil4:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

155.5

156

156.5

157

157.5

us
r_

co
il6

usr_coil6:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

33853

33853.5

33854

33854.5

33855

us
r_

co
il7

usr_coil7:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

6114

6114.5

6115

6115.5

6116

6116.5

6117

6117.5

6118

ru
n

run:cyclenum {run == 6116}



5514 5514.5 5515 5515.5 5516
cyclenum

288.5−

288−

287.5−

287−

286.5−1X
_c

oi
l1

1X_coil1:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

21.5−

21−

20.5−

20−

19.5−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

329

329.5

330

330.5

331

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

283.5−

283−

282.5−

282−

281.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

40.5−

40−

39.5−

39−

38.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

245.6

245.8

246

246.2

246.4

246.6

246.8

247

247.2

247.4

247.6

247.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6116}



5514 5514.5 5515 5515.5 5516
cyclenum

201

201.2

201.4

201.6

201.8

202

202.2

202.4

202.6

202.8

203

203.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

65.5

66

66.5

67

67.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

18.5−

18−

17.5−

17−

16.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

212

212.5

213

213.5

214

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

12.6

12.8

13

13.2

13.4

13.6

13.8

14

14.2

14.4

14.6

14.8

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

16.8−

16.6−

16.4−

16.2−

16−

15.8−

15.6−

15.4−

15.2−

15−

14.8−

14.6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6116}



5514 5514.5 5515 5515.5 5516
cyclenum

239.5−

239−

238.5−

238−

237.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

81.8−

81.6−

81.4−

81.2−

81−

80.8−

80.6−

80.4−

80.2−

80−

79.8−

79.6−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

1.5

2

2.5

3

3.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

7.4

7.6

7.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

521−

520.5−

520−

519.5−

519−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6116}

5514 5514.5 5515 5515.5 5516
cyclenum

6114

6114.5

6115

6115.5

6116

6116.5

6117

6117.5

6118

ru
n

run:cyclenum {run == 6116}
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